Biology 4605/7220 Name
Quiz #4b 30 September 2002

1. According the A. W. May (Fecundity of Atlantic Cod, Journal of the Fisheries Research
Board of Canada 24: 1531-1551, 1967) the relation between fecundity (N,,, = eggs/female)
and body length (L = cm) is

€gg

F = 0.50 L*#

What is the fecundity of an average length cod ?
The average length is currently 56.7 cm

Write a data equation for a 56.7 cm cod with a fecundity of
6.0 x 10° eggs.

2. Write an H, / H, pair concerning the fecundity of fish in two years, Wy, versus W ges
State the two hypotheses in words as well as symbolic form.



